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The main aim of this booklet is to exemplify standards for those teaching Cambridge International AS & A Level 
Sociology, and to show how different levels of candidates’ performance (high, middle and low) relate to the syllabus 
requirements. This document helps teachers to assess the standards required to achieve marks beyond the guidance 
of the mark scheme.

In this booklet, candidate responses have been chosen from the June 2024 exam series to exemplify a range of 
answers.

For each question, the response is annotated with examiner comments about where and why marks were awarded or 
omitted. This is followed by comments on how the answer could be improved. There is also a list of common mistakes 
and guidance for candidates for each question.

Please refer to the June 2024 Examiner Report for further details and guidance.

The questions and mark schemes are available on the School Support Hub

Introduction

Past exam resources and other teaching and learning resources are available on the School Support Hub

9699 June 2024 Question Paper 22

9699 June 2024 Mark Scheme 22

http://www.cambridgeinternational.org/support
http://www.cambridgeinternational.org/support
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How the candidate could improve their answer
Two clear developed points describing the term were needed to obtain full marks. In this answer, only the ‘care taker’ 
point was developed. A different second developed point such as financial support was required.

       The candidate identifies the 
first valid way (child protection 
agencies).

       The candidate now 
describes how this shows the 
family has become more child-
centred.

       The candidate identifies the 
second valid way (decrease of 
children in the family).

How to use this booklet
This booklet goes through the paper one question at a time, showing you the high-, middle- and low level response for 
each question. In the left-hand column are the candidate responses, and in the right-hand column are the examiner 
comments.

Example Candidate Response – high Examiner comments

1
1

Common mistakes and guidance for candidates
•	 Not focusing responses on the context of family as required by the question, producing responses in the context of 

society in general.
•	 Not providing a relevant description to the identified way.
•	 Not providing the required two points/descriptions.
•	 	Identifying more than the two points required.
•	 	Not making each point clearly identifiable. Candidates should, for example, clearly number each response.

2

2

Examiner comments explain 
where and why marks were 

awarded. These help to interpret 
the standard of Cambridge  

exams to help learners  
refine their exam technique.

Responses are written by real candidates in 
exam conditions, demonstrating the types of answers 

for each level. These could be used to discuss and 
analyse the answers with learners in the classroom to 

improve their skills.

This section explains how the candidate 
could improve each response. It helps learners to 

improve their exam technique.

This section lists common mistakes as well 
as helpful guidance from the examiner. This will 
help your learners to avoid these mistakes. You 
can use this alongside the relevant Examiner 

Report to guide your learners.

3

3
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Question 1

Example Candidate Response – high Examiner comments

       The candidate identifies the 
first valid way (child protection 
agencies).

       The candidate now describes 
how this shows the family has 
become more child-centred.

       The candidate identifies the 
second valid way (decrease of 
children in the family).

       The candidate now describes 
how this shows the family has 
become more child-centred.

Total mark awarded =
4 out of 4

4

2

1

3

Example Candidate Response – middle Examiner comments

       The candidate identifies the first 
valid way (become more protected 
than before).

       The candidate provides 
relevant description of the way.

       The second attempt lacks a 
focus on the specific context of the 
family becoming child-centred, and 
therefore is considered too vague 
and not awarded any marks.

Total mark awarded =
2 out of 4

1 2

1

2

How the candidate could improve their answer
Two clear developed points describing the term were needed to obtain full marks. In this answer, only the ‘care taker’ 
point was developed. A different second developed point such as financial support was required.

How the candidate could improve their answer
Two clear descriptions that developed the identification points were needed to obtain full marks. For example, with the 
first point showing what form care might take or who might perform the role. In this case, they were absent.

4

2

1

3

3

3



Example Candidate Responses – Paper 2

7

Example Candidate Response – low Examiner comments

       The candidate identifies a 
relevant way.

       This is irrelevant and adds no 
value to the response, so no marks 
are awarded.

       The candidate provides no 
description for the first identified 
way for the additional mark to be 
awarded.

       This second attempt is all 
irrelevant and therefore no marks 
are awarded.

Total mark awarded =
1 out of 4

1

2

3

4

How the candidate could improve their answer
•	 For the description mark of the valid identified way, the candidate needed to have provided a response such as…

the growth of ‘new fathers’ who are increasingly prioritising the child’s welfare.
•	 The second attempted way needed to be clearly focused on a way the family has become child-centred.

Common mistakes and guidance for candidates
•	 Not focusing responses on the context of family as required by the question, producing responses in the context of 

society in general.
•	 Not providing a relevant description to the identified way.
•	 Not providing the required two points/descriptions.
•	 	Identifying more than the two points required.
•	 	Not making each point clearly identifiable. Candidates should, for example, clearly number each response.

1

2
3

4
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Question 2(a)

Example Candidate Response – high Examiner comments

       First identified way (through the 
emotional benefits).

       The candidate explains the 
identified way so another mark is 
awarded.

       The candidate gives relevant 
sociological material/evidence.

       The candidate applies the 
sociological material to the original 
way identified, so another mark is 
awarded.

       None of this part of the 
response is required, as all 4 marks 
for the first way have already been 
earned by the candidate and this 
adds nothing more to the response.

       The candidate identifies the 
second relevant way (having the 
most influential voice).

       The candidate explains the 
identified way.

       The candidate gives relevant 
sociological material to back up the 
point.

       The candidate applies the 
sociological material to the original 
point made identified, so another 
mark is awarded.

Total mark awarded = 
8 out of 8

7

5

1

2

How the candidate could improve their answer
The candidate provided a very good response that gained full marks. However, they could have saved time in the first 
point, by staying focused and not providing the additional, unnecessary paragraph identified by point 5 above.

8

6

3

4

9

7

5

1

2

8

6

3

4

9
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Example Candidate Response – middle Examiner comments

       The candidate identifies the first 
way.

       The candidate explains the 
identified way.

       The candidate does not provide 
any sociological evidence, and 
therefore cannot be awarded the 
two additional marks available.

       The candidate identifies the 
second way.

       The candidate explains the 
identified way further for another 
mark to be awarded.

       Again, the candidate does not 
provide any sociological evidence, 
and therefore cannot be awarded 
the two additional marks available.

Total mark awarded =
4 out of 8

1

2

1

2

How the candidate could improve their answer
The candidate provided two relevant ways and explained them, however, in both instances they did not provide 
sociological material/evidence (e.g. concepts/sociologists) in support of the points made.

5

6

3

4

5
6

3

4
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Example Candidate Response – low Examiner comments

       The candidate gives the first 
identified way.

       The candidate explains the 
identified way.

       The candidate provides no 
sociological material so no further 
marks can be awarded here.

       This attempt at a second way 
lacks focus on the question and 
does not address how men benefit 
more than women from family life. 
It is irrelevant and no marks are 
awarded.

Total mark awarded =
2 out of 8

1

2
1

2

How the candidate could improve their answer
•	 In the first point/way, the candidate needed to provide and apply some relevant sociological material/evidence, in 

order to be awarded the additional marks available.
•	 The second attempt needed to clearly focus on, and address, how men benefit more than women from family life. 

Stating that men get paid for their employment whereas women do not get paid for domestic work, is not answering 
the question and is therefore not awarded any marks.

4

3

Common mistakes and guidance for candidates
•	 In this particular question, candidates focusing on the burden or oppression that women experience, rather than 

explicitly addressing ways benefit more than women from family life. That is, what do men gain that women do not?
•	 A common mistake is for candidates to not focus their responses on the actual question set.
•	 Not supporting points made with sociological material/evidence.
•	 Providing more than the two points required.

3

4
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Question 2(b)

Example Candidate Response – high Examiner comments

       The candidate identifies the first 
limitation.

       The candidate then explains 
what it is about radical feminism 
that leads it to have this as a 
limitation, so another mark is 
awarded.

       The candidate then explains 
why it is a limitation.

       The candidate identifies the 
second limitation.

       The candidate then explains 
what it is about radical feminism 
that leads it to have this as a 
limitation, so another mark can be 
awarded.

       The candidate then explains 
why it is a limitation, leading to the 
final mark being awarded to the 
candidate. 

Total mark awarded =
6 out of 6

1

2

3

1
2

3

4
4

55

How the candidate could improve their answer
No improvements could have been made here as full marks were awarded. The candidate provided two relevant 
limitations, each explaining what it is about the theoretical approach that leads to them having these limitations, and 
then explains why the identified limitations of radical feminism are limitations.

6

6
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Example Candidate Response – middle Examiner comments

       The candidate identifies the first 
limitation of radical feminism.

       The candidate then explains 
what it is about radical feminism 
that leads it to have this as a 
limitation, so the second mark is 
awarded.

       The candidate does not 
address the third element, that 
is, why the identified limitation of 
radical feminism is a limitation. The 
third mark cannot be awarded.

       The candidate identifies 
the second limitation of radical 
feminism.

       The candidate then explains 
why it is a limitation.

       The candidate does not 
address what it is about the 
theoretical approach, that leads it to 
have this as a limitation.

Total mark awarded =
4 out of 6

1

2

3

1

2

3

How the candidate could improve their answer
•	 In the first point, the candidate needed to state why the limitation of radical feminism, is a limitation for the third 

mark available.
•	 In the second point, the candidate did state why it is a limitation (unlike the first point) but needed to state what it is 

about radical feminism that leads them to have the identified limitation, such as their belief that women will never 
be free from oppression in the family. Therefore, it was awarded only 2 marks from the available 3 marks.

4

5

6 4

5

6
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Example Candidate Response – low Examiner comments

       The candidate identifies the first 
limitation of radical feminism.

       The candidate is awarded 
a second mark as the candidate 
explains why it is a limitation.

       The candidate does not 
address what it is about the 
theoretical approach, that leads it to 
have this as a limitation.

       All of this is irrelevant, as it 
does not provide a limitation of 
radical feminism. Rather, it is simply 
stating changes in the family. No 
marks are awarded for this part of 
the answer.

Total mark awarded = 
2 out of 6

1

2

3

1
2

3

How the candidate could improve their answer
•	 In the first point/limitation, the candidate needed to state what it is about radical feminism that leads them to have 

the identified limitation.
•	 The second attempt needed to first clearly focus on a valid limitation of radical feminism, then subsequently 

address what it is about the approach that leads it to have this as a limitation, and then address why it is a 
limitation.

Common mistakes and guidance for candidates
•	 Candidates not providing clear limitations (or strengths if that is what the question requires), of the theoretical 

perspective. A common error was for candidates to simply state something about the theoretical approach, rather 
than identify a valid limitation or strength. 

•	 Commonly, candidates failed to address what it is about the theoretical approach that leads it to having the 
identified limitation or strength.

•	 Only providing one limitation or strength when two were required.

4

4
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Question 3(a)

Example Candidate Response – high Examiner comments

       The candidate makes the 
first point (nuclear family remains 
dominant...) and applies relevant 
sociological material (Chester, neo-
conventional family) to support this 
point.

       The response engages the 
sociological material, moving 
beyond description to expand and 
makes a developed point.

       The candidate makes a clear 
and relevant second point (other 
family types are temporary/ do not 
dominate the nuclear family).

       The candidate illustrates the 
point made through the example 
of cohabitation, directly addressing 
the claim and unpacking this into a 
developed point.

       This response therefore is an 
example of two developed points 
made, to reach the top level of 
marks available.

Total mark awarded = 
10 out of 10

1

2

3

1

2

3

4

4

How the candidate could improve their answer
This response achieved full marks for providing two developed (relevant) points. It does not require improvement as 
the candidate provided everything required of them.

5

5
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Example Candidate Response – middle Examiner comments

       The candidate makes the first 
point (nuclear family is the most 
common), and supports this through 
sociological material/evidence, i.e. 
it is universal (Murdoch), and with 
reference to Chester.

       The candidate expands 
upon this point, moving beyond 
description, applying relevant 
sociological material to explain the 
point made. This is considered a 
developed point.

       The candidate makes a second 
relevant point (the nuclear family 
has a close relationship with 
capitalism).

       Whilst the candidate makes a 
valid point, it lacks in application 
of sociological material, relying 
largely on description. It moves 
beyond a simple statement made, 
but does not engage enough to be 
considered developed, rather it is 
underdeveloped.

       This candidate’s response, 
therefore, is an example of one 
developed point made and one 
underdeveloped point, to reach 
top of the middle band of marks 
available.

Total mark awarded =
7 out of 10

1

2

3

4

1

2

3

4

How the candidate could improve their answer
The second point made by the candidate, lacked the engagement of sociological material to expand the claim 
made (compare to the examples of developed points). The response was largely descriptive, and would have been 
improved, for example, by demonstrating what it is about the nuclear family that capitalism relies so heavily upon, that 
other more diverse family forms could not provide.

5

5
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Example Candidate Response – low Examiner comments

       All of this introduction is 
irrelevant to answering the question.

       This is the start of a relevant 
first point.

       The candidate’s response 
moves beyond a simple statement, 
however, it is descriptive and lacks 
in sociological evidence to support 
it. Therefore, it is considered 
underdeveloped.

       The candidate makes a second 
point (the nuclear family is the 
most preferable). However, this is a 
simple statement as what follows is 
irrelevant.

       None of this is relevant to the 
argument as it is simply a point 
of view of the New Right. It is not 
evidence that the nuclear family is 
the most widely chosen family  
form / the most common family.

       The candidate’s response, 
therefore, is an example of one 
underdeveloped point made and 
one relevant but undeveloped point, 
to reach the bottom of the middle 
band of marks available.

Total mark awarded = 
4 out of 10

1

2

3

4

1

2

3

4

5

6

5

6
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How the candidate could improve their answer
•	 The first point needed the candidate to apply relevant sociological material/evidence to support the claim made, 

engaging it to move beyond relying on description within a somewhat common-sense response.
•	 The second point needed to ensure it focused the discussion on the actual question itself. The candidate 

mistakenly focused on why the New Right think the nuclear family should be the most dominant family type, rather 
than addressing how it actually is the most common/dominant family type.

Common mistakes and guidance for candidates
•	 As demonstrated in the low response example above, candidates do not provide material relevant to the actual 

question set.
•	 Candidates do not apply relevant sociological material to develop their discussions.
•	 Candidates provide only one point/argument.
•	 Providing an evaluation of the statement, which is not required as candidates do this in Q3(b).
•	 There is no need for introductions and/or conclusions. Candidates should get straight into their points.
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Question 3(b)

Example Candidate Response – high Examiner comments

       The candidate begins a 
relevant argument against the 
statement.

       The candidate begins to 
unpack the point, starting to explain 
why family diversity has increased 
in western societies.

       The candidate uses multiple 
applications of relevant sociological 
evidence to support the point 
made (Beck-Gernsheim, Hughes & 
Church, Stacey, etc.).

       The candidate continues to 
unpack and explain the argument 
and applies further reasons.

       The candidate provides one, 
unpacked, well developed and 
sophisticated argument, applying 
relevant sociological evidence/
material to support this.

Total mark awarded = 
6 out of 6

1

2

3

1

2

3

How the candidate could improve their answer
This response does not require improvement and illustrates what candidates should be aiming for in achieving full 
marks.

4

5

4

5
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Example Candidate Response – middle Examiner comments

       The candidate begins a 
relevant argument against here.

       The candidate attempts to 
apply sociological material, e.g. 
postmodernists, globalisation.

       The candidate’s sociological 
evidence is quite limited in 
unpacking the argument, relying to 
some extent on description. They 
do not really explore globalisation, 
rather it is implied. Therefore, 
the response is considered 
underdeveloped.

Total mark awarded =
4 out of 6

1

2

3

1

2

3

How the candidate could improve their answer
The candidate needed to do more with the point made, e.g. develop it by clearly explaining the relevance/impact 
of globalisation. This almost becomes irrelevant therefore, relying on the simple identification of postmodernists 
believe… as its sociological supporting material.
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Example Candidate Response – low Examiner comments

       The candidate gives an 
opening that is too vague.

       Here, the relevant point against 
begins, however it is simplistic 
in simply stating that in modern 
western societies, diversity can be 
seen.

       From here on, the response is 
irrelevant.

Total mark awarded =
2 out of 6

1 1

How the candidate could improve their answer
The candidate could have moved beyond a simplistic statement against, engaging relevant sociological material to 
unpack and develop the point. For example, they could have explained why there has been an increase in family 
diversity in western societies (growth of secularisation, individualism, economic independence of women etc.).

Common mistakes and guidance for candidates
•	 Not applying sociological material/evidence to support the argument, relying on common-sense / general 

knowledge.
•	 Making a statement and not developing it and sufficiently unpacking the argument. The question awards up to 6 

marks for one argument, and thus indicates the quality required from the candidate.
•	 Providing more than one argument required.

2

3

2

3
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Question 5

Example Candidate Response – high Examiner comments

       This introduction simply sets 
up the candidate’s response, with 
points raised examined in the body 
of the response, therefore no mark 
awarded here.

       The candidate begins a 
relevant point in support of the 
question statement (AO1).

       The candidate goes on 
to apply relevant sociological 
material/evidence, e.g. Althusser 
and ideological state apparatus, 
Zaretsky, ruling-class ideology, etc.

11

2

3

2

3
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Example Candidate Response – high, continued Examiner comments

       The candidate unpacks and 
sufficiently develops this point.

       The candidate begins a 
second point in support of the 
question (AO1), which is supported 
through the application of relevant 
sociological material.

       Again, the candidate sufficiently 
unpacks this point to be considered 
developed.

       The candidate provides a 
further AO1 point. However, the 
point is considered this time as 
underdeveloped, as the point is not 
unpacked with enough sociological 
material.

4

6

7

5

4

6

7

5
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Example Candidate Response – high, continued Examiner comments

       The candidate unpacks another 
point sufficiently in support, with 
relevant sociological material 
applied. This point therefore is 
considered developed.

       The candidate makes good use 
of relevant sociological concepts to 
develop the point made.

       The candidate begins making 
a clear evaluative point (AO3) as 
opposed to juxtaposition. The point 
continues into the functionalist 
material that follows.

9

8

9

8

1010
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Example Candidate Response – high, continued Examiner comments

       The candidate uses relevant 
functionalist concepts to unpack the 
point.

       This part of the response 
culminates in a developed point of 
evaluation. If it was not for the clear 
evaluative statement/assessment 
made in the build-up in this point at 
the end of the previous paragraph 
(evaluating the role of family 
members according to Marxism), 
this functionalist paragraph would 
be considered juxtaposition rather 
than explicit evaluation.

       The candidate makes a further 
brief evaluation.

       The candidate makes a 
juxtaposed point rather than 
explicit evaluation, and it is 
underdeveloped.

1111

12

13

14

12

13

14
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Example Candidate Response – high, continued Examiner comments

       The candidate makes a 
further juxtaposed AO3 point, 
which they sufficiently unpack and 
apply sociological material to be 
considered developed.

       The candidate makes a final 
point against the argument, and 
again is juxtaposed rather than an 
explicit evaluation.

       The candidate draws their 
response to a close, with a 
conclusion. They give a brief 
summary of what has been 
discussed, with no new points to 
award.

Mark for AO1 = 8 out of 8
Mark for AO2 = 6 out of 8
Mark for AO3 = 8 out of 10

Total mark awarded =
22 out of 26

15

16

17

15

16

17
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How the candidate could improve their answer
•	 To reach the top level of AO3, the points needed to be explicit evaluations, whilst the brief/simple evaluative 

statement needed some development and expansion.
•	 The conclusion could have been used to make some judgement of the opposing arguments, weighing up their 

contributions to the question.
•	 To improve AO2, the sociological material/evidence needed to be consistently applied to answering the 

specificness of the question (see comment below on common mistakes bullet 2).
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Example Candidate Response – middle Examiner comments

       The candidate begins with the 
first supporting point. They unpack 
this with some explanation, but it 
can be considered underdeveloped.

       The candidate provides a 
second AO1 supporting point, with 
some relevant sociological material. 
Again, only some unpacking 
and expansion to be considered 
underdeveloped.

       The candidate makes a further 
supporting point, bringing to our 
attention the negative role the 
family plays according to Marxists. 
This is considered to be unpacked 
well, with sociological concepts 
used effectively to be considered a 
developed point.

       The candidate makes good use 
of relevant sociological concepts.

1

4

2

3

1

4

2

3
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Example Candidate Response – middle, continued Examiner comments

       The candidate makes an 
argument against (AO3), however 
it is not an explicit evaluation, as 
it simply provides an alternative 
role of the family rather than 
directly comparing the views 
of functionalists to Marxist 
explanations.

       The candidate does the same 
here, in proposing an alternative 
role. Therefore, it is juxtaposition 
and not explicit elevation.

       Again here, the candidate 
proposes an alternative role.

       The candidate makes some 
limited attempt at making a 
judgment of the approaches.

Mark for AO1 = 6 out of 8
Mark for AO2 = 6 out of 8
Mark for AO3 = 6 out of 10 

Total mark awarded =
18 out of 26

7

8

5

6

7

8

5

6
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How the candidate could improve their answer
•	 The supporting AO1 points made needed to be unpacked further, as most were underdeveloped with limited 

explanation. These would have benefited from also being conceptually supported more.
•	 Whilst some counterarguments were made (AO3), they needed to be explicit evaluations as opposed to simply 

suggesting/presenting alternative views (see comment below on common mistakes bullet 5).
•	 The response could have applied a postmodernist examination/critique/rejection of the structuralist approaches of 

Marxism/functionalism/feminism.
•	 To improve AO2, the sociological material/evidence needed to be consistently applied to answering the 

specificness of the question (see comment below on common mistakes bullet 2).
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Example Candidate Response – low Examiner comments

       The candidate provides 
an introduction that sets up the 
response.

       The candidate demonstrates 
a lack of focus here, not making a 
clear point in relation to the family, 
instead citing media and education. 
Therefore, it is considered 
irrelevant.

       The candidate provides a 
relevant point to support the 
statement, however, it is simplistic 
and undeveloped and contains an 
error in the sociologist used (this 
should be Engels not Edgell).

       The candidate gives a second 
supportive AO1 point, again 
undeveloped.

1

2

3

4

1

2

3

4
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Example Candidate Response – low Examiner comments

       The candidate gives a further 
point in support, and again 
undeveloped.

       This point makes statements 
that are considered too vague.

       The candidate makes a point 
against the argument AO3, with 
some relevant concepts and, 
although demonstrates a little 
vagueness, does move beyond a 
simple statement to be considered 
underdeveloped.

5 5

6

7

6

7
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Example Candidate Response – low Examiner comments

       This New Right part is too 
vague and assertive, contributing 
nothing to the debate. What 
the New Right believe should 
happen, is not the same as what is 
happening.

       The conclusion does not offer 
anything creditworthy.

Mark for AO1 = 3 out of 8
Mark for AO2 = 4 out of 8
Mark for AO3 = 5 out of 10

Total mark awarded =
12 out of 26

How the candidate could improve their answer
•	 The candidate needed to demonstrate more of a sociological awareness. Knowledge was conceptually quite 

limited, particularly the counterarguments. They needed to apply more, and relevant, sociological evidence/
concepts etc. The functionalist material was basic and they could have provided a feminist angle (radical/liberal/
Marxist/black) to improve their discussion.

•	 The response needed to move beyond simple and often descriptive statements, expanding upon points made, 
unpacking the point being made.

•	 Points need to be clear in their application to answering the question, avoiding vagueness.

Common mistakes and guidance for candidates
•	 Responses not reflecting the actual requirements of the question set.
•	 With this particular question, few candidates achieved in the top levels of marks as they neglected to address the 

context of the best understanding, instead relying on a discussion that simply examined the roles/functions of the 
family according to Marxism versus functionalism/feminism.

•	 Providing a one-sided response, either in support of, or against, the statement in the question.
•	 Not supporting arguments/points made with relevant sociological concepts, theories, etc., relying on description 

and/or common-sense and general knowledge.
•	 Counter points (AO3) made through juxtaposition rather than explicit evaluations. This is commonly demonstrated 

when candidates simply propose/present a differing approach, rather than actually using an alternative viewpoint to 
engage the question directly and create a value judgment (see comment on the high script).

•	 Responses that provide an insufficient number of points, limiting marks that can be awarded.
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